il
Fg,{
s
il

'8 30 5 M B ]

ROTATING HYDRAULIC CYLINDER

A RH

ft

LDEREREIRERAERESSREMNMN  E85K -
EEBAARKRET  EEABNEEERINEB R LA - MAEm S &
L IEREM -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B OHRAREBRNEBERMEE  DURRELSE -
B The drain port should be independently connected to oil tank to avoid back

pressure.
L
o A B L br . alo
5
RC1/4”
Drain Port J2H7,
2~P
13(RH-200:14)  Pressure Port #53#87l)
6
102 H G
J
Sutiectt chriot changes
AT #31E SPECIFICATIONS
gt SEZEETE Eff. pigton area 712 B OEg e ERES I 58
Z #{l (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
/Eﬂ Model cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) kg-m? kg
;E RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29
B RH-80 477 4238 15 6000 3.5(35) 0.01 3.4
i RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
SMEUR NS DIMENSIONS
Model A B Cc D (hE7) Flo | S J K L (m}) N P Qa R
RH-65 65 15 198 80 60 22 45 30 73 175 | M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 112 90 65 25 | 45 30 74 176 | M16x2.0x30 | 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 135 100 80 | 25 45 25 885 | 190.5 M16x2.0x30  6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 | 25 160 130 110 30 50 25 955  197.5 M20x2.5x35 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

75 AUTOGRIP






